LKBALRTDa—IL>

Hf  $f4ZFE18298 () 10:00~12: 00 ? 2 BFfE
R R WA S
(B%)
9:30 24+ %9 : 50 £ Tl
(30 %) - BNNE OISR OHETR i Zeer3s
10:00 1. [XLHIZ
(10 53) - B waFs
R BE
- EEROFN O
10:05 2. HEEREN VRN
(557) = 4 DD LT D
- RS
10:10 3. BeHlEs /MAETHESOEY #iA ) S—
(20 43) - B HEEBESOBSIEN OV TR -
(7 LA 2Tk — AITHAT) B2 MIRD SHTE
10 : 30 4. ZYVEI—T4 V7 77— : FHETITDOL\T PR
— - 7Y U T—H =N
(75 43) X —T T DA P
BT N—TNTHERI (FET- BLEb>TND I LIZONT—3)
c KT N—T CTE R (LB L EZ TS T R L 2 oBh)
[ 87 RA N BEIROEE
11:45 5. BRER %77 Y F ==
(10 43) F
11:55 6. A& ;@?
(543) - PSS




